
CHEMISTRY

BOOKS - BEYOND PUBLICATION

CHEMICAL BONDING

Example

1. List the factors that determine the type of

bond that will be formed between two atoms.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XrL1eydNAzTJ


2. How can you identify the type of bond

formation between two atoms ?

Watch Video Solution

3. Explain the difference between the valence

electrons and the covalency of an element.

Watch Video Solution

https://dl.doubtnut.com/l/_XrL1eydNAzTJ
https://dl.doubtnut.com/l/_auelI4Ew6pxZ
https://dl.doubtnut.com/l/_EP9jXZqNWVvH


4. How valence electrons different from the

covalency of element ? Explain with examples.

Watch Video Solution

5. Which chemical compound has the

following Lewis notation : How many valence

electrons does element Y have?

Watch Video Solution

https://dl.doubtnut.com/l/_4wEYqD7TI5u3
https://dl.doubtnut.com/l/_nt4mUW4VvD5o


6. Which chemical compound has the

following Lewis notation : What is the valency

of element X ?

Watch Video Solution

7. Which chemical compound has the following

Lewis notation : How many covalent bonds are

there in the molecule ?

Watch Video Solution

https://dl.doubtnut.com/l/_sXmSmmkqCH9a
https://dl.doubtnut.com/l/_WUDeA4z216Pa
https://dl.doubtnut.com/l/_uJaMTJlMVOZS


8. A Chemical compound has the following

Lewis notation : To which groups the elements

X and Y belong ? 

Watch Video Solution

(AS2)

9. Why do valency electrons involve in bond

formation , than electrons of inner shells ?

Watch Video Solution

https://dl.doubtnut.com/l/_uJaMTJlMVOZS
https://dl.doubtnut.com/l/_o5cNc4zx8qUl


10. Why do valency electrons involve in bond

formation , than electrons of inner shells ?

Watch Video Solution

11. How bond energies and bond lengths of

molecule help us in predicting their chemical

properties? Explain with examples.

Watch Video Solution

https://dl.doubtnut.com/l/_YIc3qcBtK7zZ
https://dl.doubtnut.com/l/_nzrl2qZdPpyz


12. How bond energies and bond lengths of

molecule help us in predicting their chemical

properties? Explain with examples.

Watch Video Solution

13. Draw simple diagrams to show how

electrons are arranged in the following

covalent molecules: Water 

Watch Video Solution

(H2O)

https://dl.doubtnut.com/l/_mR6wsDHGnM7A
https://dl.doubtnut.com/l/_UNbNKQfinUbU
https://dl.doubtnut.com/l/_sZ8pVqcnxBwE


14. Draw simple diagrams to show how

electrons are arranged in the following

covalent molecules: Water 

Watch Video Solution

(H2O)

15. Draw simple diagrams to show how

electrons are arranged in the following

covalent molecules: Chlorine 

Watch Video Solution

(Cl2)

https://dl.doubtnut.com/l/_sZ8pVqcnxBwE
https://dl.doubtnut.com/l/_9x5PS3BNLh2D
https://dl.doubtnut.com/l/_AgpKOBotkh8w


16. Represent the molecule  using Lewis

notation. 

Watch Video Solution

H2O

17. How can you explain the formation of 

molecule using dot structure?

Watch Video Solution

H2O

18. Represent each of the following atoms

using Lewis notation. Beryllium

https://dl.doubtnut.com/l/_AgpKOBotkh8w
https://dl.doubtnut.com/l/_m45xtShRHv6M
https://dl.doubtnut.com/l/_pIWoVfkJWyl8


Watch Video Solution

19. Represent each of the following atoms

using Lewis notation. Calcium

Watch Video Solution

20. Represent each of the following atoms

using Lewis notation. Lithium

Watch Video Solution

https://dl.doubtnut.com/l/_pIWoVfkJWyl8
https://dl.doubtnut.com/l/_rIrjF9YCV5Ld
https://dl.doubtnut.com/l/_NwUQ2BRGTNPr
https://dl.doubtnut.com/l/_4cVl7VRo8il0


21. Represent each of the following atoms

using Lewis notation. Bromine gas 

Watch Video Solution

(Br2)

22. Represent each of the following atoms

using Lewis notation. Calcium chloride

Watch Video Solution

(CaCl2)

https://dl.doubtnut.com/l/_4cVl7VRo8il0
https://dl.doubtnut.com/l/_OiQvnVVRAsVz


23. Represent each of the following atoms

using Lewis notation. Carbon dioxide 

Watch Video Solution

(CO2)

24. What is octet rule? How do you appreciate

role of the 'octet rule' in explaining the

chemical properties of elements ?

Watch Video Solution

https://dl.doubtnut.com/l/_cm9Y0UCO1gjz
https://dl.doubtnut.com/l/_auKofPAf8zFV


25. How do you appreciate role of the 'octet

rule’ explaining the chemical properties of

elements ?

Watch Video Solution

26. What is hybridization ? Explain the

formation of the following molecules using

hybridization. (a)  (b) 

Watch Video Solution

BeCl2 BF3

https://dl.doubtnut.com/l/_8FgDRIsKR3rK
https://dl.doubtnut.com/l/_G5hEHRI24rHc
https://dl.doubtnut.com/l/_XckohjZ8clas


27. Explain the formation of 

hybridization using examples.

Watch Video Solution

sp and sp2

28. What is the name given to inter mixing of

atomic orbitals to form new orbitals. Explain

the formation to form new orbitals. Explain

the formation of following molecules by using

that process. (a)  (b) 

Watch Video Solution

BeCl2 BF3

https://dl.doubtnut.com/l/_XckohjZ8clas
https://dl.doubtnut.com/l/_0EcP9hVoACso


29. Explain the formation of sodium chloride

and calcium oxide on the basis of the concept

of electron transfer from one atom to another

atom.

Watch Video Solution

30. A , B and C are three elements with atomic

numbers 6, 11 and 17 respectively. i) Which of

these from ionic bond ? Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_mJkuUApSk2sJ
https://dl.doubtnut.com/l/_0lbrXd1TAfEU


31. A, B, and C are three elements with atomic

numbers 6, 11 and 17 respectively : Which of

these cannot form covalent bond ? Why ?

Watch Video Solution

32. A, B, and C are three elements with atomic

numbers 6, 11 and 17 respectively : Which of

these can form ionic as well as covalent bond ?

Watch Video Solution

https://dl.doubtnut.com/l/_0lbrXd1TAfEU
https://dl.doubtnut.com/l/_NR8sYIGJo9l5
https://dl.doubtnut.com/l/_nUMsbMH2vTVx


33. Predict the reasons for low melting point

for covalent compounds when compared with

ionic compounds.

Watch Video Solution

34. "Covalent compounds have low melting

point". What is the reason for this statement?

Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_rjrGixer0Z5X
https://dl.doubtnut.com/l/_Dtyjos8T0Oiy
https://dl.doubtnut.com/l/_3ytharhDWGsV


35. What are compounds formed due to

sharing of electrons between the atoms. Why

have low melting and boiling points ?

Watch Video Solution

36. How Lewis dot structure helps in

understanding bond formation between

atoms?

Watch Video Solution

https://dl.doubtnut.com/l/_3ytharhDWGsV
https://dl.doubtnut.com/l/_FeqshtXyv1WE
https://dl.doubtnut.com/l/_0HnvIh3S3jj3


37. Give the Lewis dot structure of .

Watch Video Solution

HNO3

38. Explain the formation of the following

molecules using valence bond theory. 

molecule

Watch Video Solution

O2

39. Write the formation of double bond and

triple bond according to valence bond theory.

https://dl.doubtnut.com/l/_0HnvIh3S3jj3
https://dl.doubtnut.com/l/_Wl453ojCQEPk
https://dl.doubtnut.com/l/_2lxrDPcpFLy0


Watch Video Solution

40. Two chemical reactions are described

below. (i) Nitrogen and hydrogen react to form

ammonia., give A) The valence of each of the

atoms involved in the reaction., B) The Lewis

structure of the product that is formed.

Watch Video Solution

https://dl.doubtnut.com/l/_2lxrDPcpFLy0
https://dl.doubtnut.com/l/_THhuzKeemrzX


41. Two chemical reactions are described

below.(ii) Carbon and hydrogen bond together

to form a molecule of methane (CH4). give A)

The valence of each of the atoms involved in

the reaction.,B) The Lewis structure of the

product that is formed.

Watch Video Solution

42. Collect the information about properties

and uses of covalent compounds and prepare

https://dl.doubtnut.com/l/_2dlb29kMPH5J
https://dl.doubtnut.com/l/_avxGMI31tt0s


a report.

Watch Video Solution

43. Collect the information about properties

and uses of covalent compounds and prepare

a report.

Watch Video Solution

44. Generally these compounds are non polar

in nature. What are the those compounds.

https://dl.doubtnut.com/l/_avxGMI31tt0s
https://dl.doubtnut.com/l/_K9UZY3wnTGtm
https://dl.doubtnut.com/l/_9QMOi2cdv3tm


Explain their properties and uses.

Watch Video Solution

45. Write any two uses and two properties of

covalent compounds.

Watch Video Solution

46. How do they (elements) usually exist?

Watch Video Solution

https://dl.doubtnut.com/l/_9QMOi2cdv3tm
https://dl.doubtnut.com/l/_kLdQizgnaBll
https://dl.doubtnut.com/l/_OTFYCHc7GV1G


47. Do atoms exist as a single atom or as a

group of atoms ?

Watch Video Solution

48. Are there elements which exist as atoms?

Watch Video Solution

49. Why do some elements exist as molecules

and some as atoms?

https://dl.doubtnut.com/l/_6bpslUznIL6V
https://dl.doubtnut.com/l/_frJAPUKQL02c
https://dl.doubtnut.com/l/_sD0KNV3ya0ln


Watch Video Solution

50. Why do some elements react vigorously

while others are inert?

Watch Video Solution

51. Why is the chemical formula for water 

and for sodium chloride NaCl, why not 

and ?

Watch Video Solution

H2O

HO2

NaCl2

https://dl.doubtnut.com/l/_sD0KNV3ya0ln
https://dl.doubtnut.com/l/_hCTDZwJZI25g
https://dl.doubtnut.com/l/_8FeigBM72Rub


52. Why do some atoms combine while others

do not?

Watch Video Solution

53. Are elements and compounds simply made

up of separate atoms individually arranged?

Watch Video Solution

https://dl.doubtnut.com/l/_8FeigBM72Rub
https://dl.doubtnut.com/l/_qmthR22IaTDD
https://dl.doubtnut.com/l/_BADRZ57uplCJ


54. Is there any attraction between atoms?

Watch Video Solution

55. Two ice cubes are pressed over each other

and unite to form one cube, which force is

rsponsible, for holding them together?

Watch Video Solution

https://dl.doubtnut.com/l/_ILIbvzYWV5IP
https://dl.doubtnut.com/l/_PQFH1z74aqEZ


56. Why there is absorption of energy in

certain chemical reactions and release of

energy in other reactions?

Watch Video Solution

57. Where the absorbed energy goes?

Watch Video Solution

https://dl.doubtnut.com/l/_0xyJ8QGnyVCB
https://dl.doubtnut.com/l/_8nvHRZGQmZiC


58. Is there any relation to energy and bond

formation between atoms?

Watch Video Solution

59. What could be the reason for the change

in reactivity of elements?

Watch Video Solution

https://dl.doubtnut.com/l/_ruXAAo4AJczT
https://dl.doubtnut.com/l/_w3P6g7b3zlIf


60. In which month is the duration off dry

minimum? What could be the reason for this?

Watch Video Solution

61. The atoms of these elements are highly

stable:

Watch Video Solution

https://dl.doubtnut.com/l/_NCbpf8G1A2Um
https://dl.doubtnut.com/l/_4oqcnXq42JKi
https://dl.doubtnut.com/l/_2g4H4Noxopyq


62. What have you observed about the main

groups?

Watch Video Solution

63. Why do atoms of elements try to combine

and form molecules?

Watch Video Solution

https://dl.doubtnut.com/l/_2g4H4Noxopyq
https://dl.doubtnut.com/l/_zoqFVsHomC7P


64. Is it accidental that IA to VIIA main group

elements during chemical reactions get eight

electrons in the outermost shells of their ions,

similar to noble gas atoms?

Watch Video Solution

65. Explain the formation of ionic compounds

NaCl,  and  through Lewis

electron dot symbols (formulae).

Watch Video Solution

MgCl2, Na2O AlCl3

https://dl.doubtnut.com/l/_bhB2x4NT35Zx
https://dl.doubtnut.com/l/_zBxnt3fvQi4t


66. How do cations and anions of an ionic

compound exist in its solid state?

Watch Video Solution

67. Do you think that pairs of  as

units would be present in the solid crystal?

Watch Video Solution

Na + Cl−

https://dl.doubtnut.com/l/_zBxnt3fvQi4t
https://dl.doubtnut.com/l/_3Bhvxzz6C6p4
https://dl.doubtnut.com/l/_jBAn1MfLBBSC


68. Which inventions is most important

related to micro organisms? Can you explain

the reasons, why it is so important?

Watch Video Solution

69. Can you say what type of bond exists

between atoms of nitrogen molecule?

Watch Video Solution

https://dl.doubtnut.com/l/_lXIFVTZpw4ok
https://dl.doubtnut.com/l/_BHxyNcZbr9cp


70. What do you understand from bond

lengths and bond energies?

Watch Video Solution

71. Are the values not different for the bonds

between different types of atoms?

Watch Video Solution

72. What is the bond angle in a molecule?

https://dl.doubtnut.com/l/_tqUF6S8ElvaM
https://dl.doubtnut.com/l/_1m511YrJz22f
https://dl.doubtnut.com/l/_YYaRNpT3CVAU


Watch Video Solution

73. How is HCl molecule formed?

Watch Video Solution

74. Write the Lewis structures of methyl nitrite

and ethyl alcohol,

Watch Video Solution

https://dl.doubtnut.com/l/_YYaRNpT3CVAU
https://dl.doubtnut.com/l/_2m0m0NfYjz6b
https://dl.doubtnut.com/l/_xUr5PHYYcR06


75. Do you find any relation between sunrise

and seasons?

Watch Video Solution

76. The atoms of these elements are highly

stable:

Watch Video Solution

https://dl.doubtnut.com/l/_Za2PErGCyIaj
https://dl.doubtnut.com/l/_WdS7sz6mcpdB
https://dl.doubtnut.com/l/_wsCf0ZNY5xIf


77. What is chemical bond? When is it formed?

Watch Video Solution

78. How is an anion formed?

Watch Video Solution

79. Which type of compounds are more soluble

in polar solvents ?

Watch Video Solution

https://dl.doubtnut.com/l/_wsCf0ZNY5xIf
https://dl.doubtnut.com/l/_1nDukvfL8CYH
https://dl.doubtnut.com/l/_OGORLRcJNiC0


80. Why are molecules more stable than

atoms?

Watch Video Solution

81. Which compounds exhibit low melting and

boiling points?

Watch Video Solution

https://dl.doubtnut.com/l/_OGORLRcJNiC0
https://dl.doubtnut.com/l/_BH8eG0oMilFc
https://dl.doubtnut.com/l/_8Yq8bA7BgkzK


82. On which factors do anions depend?

Watch Video Solution

83. How do you know the valence of a metal?

Watch Video Solution

84. Why do atoms combine and form

molecules?

Watch Video Solution

https://dl.doubtnut.com/l/_NHGTD8m0nyj5
https://dl.doubtnut.com/l/_9G4pd50hivQc
https://dl.doubtnut.com/l/_c16P1WBKb3vU


85. What is ‘orbital concept of bond

formation’?

Watch Video Solution

86. What is the use of VSEPR theory?

Watch Video Solution

https://dl.doubtnut.com/l/_c16P1WBKb3vU
https://dl.doubtnut.com/l/_blWIBuHYKDMv
https://dl.doubtnut.com/l/_BPm6ytTP88zw


87. Why ionic compounds are good

electrolytes?

Watch Video Solution

88. What is ‘crystal lattice’?

Watch Video Solution

89. How is a  (pi) bond formed?

Watch Video Solution

π

https://dl.doubtnut.com/l/_MaDAHBInkf6t
https://dl.doubtnut.com/l/_LG7vCbVthScf
https://dl.doubtnut.com/l/_qycN4VGjUGGF


90. What is a polar bond?

Watch Video Solution

91. How many  and  bonds are in 

molecule?

Watch Video Solution

σ π O2

https://dl.doubtnut.com/l/_qycN4VGjUGGF
https://dl.doubtnut.com/l/_iqJZNogDDggk
https://dl.doubtnut.com/l/_lSWZo1dqY4Lj


92. What are the bond angles in  and 

 molecules as per VBT?

Watch Video Solution

H2O

NH3

93. What is an ion?

Watch Video Solution

94. Write a short note on bond angles.

Watch Video Solution

https://dl.doubtnut.com/l/_vD4xLogFok1G
https://dl.doubtnut.com/l/_w0CDuctAPC9H
https://dl.doubtnut.com/l/_Sk0ZyfNXLeoR


95. Covalent bond is formed by

Watch Video Solution

96. What are the forces present in an ionic

bond?

Watch Video Solution

https://dl.doubtnut.com/l/_Sk0ZyfNXLeoR
https://dl.doubtnut.com/l/_657dgRRDkZ3B
https://dl.doubtnut.com/l/_2YStjTzIUXis


97. What is the use of quantum numbers ?

What is electronic configuration ?

Watch Video Solution

98. Which forces are weaker forces and where

are they operative?

Watch Video Solution

99. What is VSEPRT?

https://dl.doubtnut.com/l/_uBAxE47pCS0n
https://dl.doubtnut.com/l/_MQZBiYkljou7
https://dl.doubtnut.com/l/_i0zRtHd16QcT


Watch Video Solution

100. How is a cation formed?

Watch Video Solution

101. Name the bonds present in the molecules

i) 

Watch Video Solution

BaCl2

https://dl.doubtnut.com/l/_i0zRtHd16QcT
https://dl.doubtnut.com/l/_m8zzdXvZnjwE
https://dl.doubtnut.com/l/_lCQ6WvzJ39PC


102. When is ionic bond formed between

atoms?

Watch Video Solution

103. How many sigma and pi bonds are

present in acetylene molecule?

Watch Video Solution

104. What is meant by inter-nuclear axis?

https://dl.doubtnut.com/l/_e0lvmsslRxoQ
https://dl.doubtnut.com/l/_VSOmx0c9do7n
https://dl.doubtnut.com/l/_Spb7q1XbfZEM


Watch Video Solution

105. NaCl dissolves in water but not in

benzene. Explain.

Watch Video Solution

106. Why noble gases (inert gases) are stable?

Watch Video Solution

https://dl.doubtnut.com/l/_Spb7q1XbfZEM
https://dl.doubtnut.com/l/_amqrw5CawsRj
https://dl.doubtnut.com/l/_DMjBZ8TIbCX0


107. What are the structures of sodium

chloride and calcium chloride crystals?

Watch Video Solution

108. What is Octet rule ? Briefly explain its

significance and limitations.

Watch Video Solution

109. How is a cation formed?

https://dl.doubtnut.com/l/_VteB4SKukqys
https://dl.doubtnut.com/l/_XU0cfAoAfphO
https://dl.doubtnut.com/l/_8cjTE9PiEWQr


Watch Video Solution

110. Which compounds exhibit high melting

and boiling points?

Watch Video Solution

111. What is ionic linkage?

Watch Video Solution

https://dl.doubtnut.com/l/_8cjTE9PiEWQr
https://dl.doubtnut.com/l/_9WXMQbeEcPb9
https://dl.doubtnut.com/l/_DgTCtdc2x7IL


112. How do you know the valence of a non-

metal?

Watch Video Solution

113. When is ionic bond formed between

atoms?

Watch Video Solution

https://dl.doubtnut.com/l/_MfhVcZa6pEUv
https://dl.doubtnut.com/l/_uieoBU9Wj65e


114. Why a molecule of hydrogen is more

stable than the uncombined atoms?

Watch Video Solution

115. What is lattice ?

Watch Video Solution

116. How is a  (pi) bond formed?

Watch Video Solution

π

https://dl.doubtnut.com/l/_QiuAEiHyfkqQ
https://dl.doubtnut.com/l/_O8K6kyX7oGya
https://dl.doubtnut.com/l/_3zGePqfYLCA9


117. What are multiple bonds?

Watch Video Solution

118. What is bond length? Discuss different

factors influencing bond length.

Watch Video Solution

https://dl.doubtnut.com/l/_3zGePqfYLCA9
https://dl.doubtnut.com/l/_dR8c2E3szGOT
https://dl.doubtnut.com/l/_ORXauihAGzMw


119. Which type of atoms easily enter into ionic

bonding?

Watch Video Solution

120. Sulphur dioxide is a diamagnetic

molecule. Explain.

Watch Video Solution

121. What are Lewis structures?

https://dl.doubtnut.com/l/_5p1JpxfNEfDD
https://dl.doubtnut.com/l/_rjiX1eJMmtLb
https://dl.doubtnut.com/l/_f8SnW485Ke8J


Watch Video Solution

122. In case of ionic substances, a more

appropriate term is formula weight, rather

than ‘molecular weight’. Why?

Watch Video Solution

123. What is ionisation? Give one example.

Watch Video Solution

https://dl.doubtnut.com/l/_f8SnW485Ke8J
https://dl.doubtnut.com/l/_0AYiI47qBZdS
https://dl.doubtnut.com/l/_nbUT6sJfHM4v
https://dl.doubtnut.com/l/_kC2dU2MvAEQZ


124. What is a coordination number?

Watch Video Solution

125. Draw the structural diagram of Ammonia

molecule as per the valence - shell electron

pair repulsion theory.

Watch Video Solution

https://dl.doubtnut.com/l/_kC2dU2MvAEQZ
https://dl.doubtnut.com/l/_sO304QjFCd9k


126. Write the names of any two compounds

which have ionic bond.

Watch Video Solution

127. Distinguish between a sigma bond and a

pi bond.

Watch Video Solution

128. Write about ‘Hydrogen bond’.

https://dl.doubtnut.com/l/_pFxXAa8qAH8i
https://dl.doubtnut.com/l/_SSe5ivXKg0sY
https://dl.doubtnut.com/l/_JmtSt0nXVa4W


Watch Video Solution

129. Write the difference between ionic bond

and covalent bond.

Watch Video Solution

130. Write about VSEPR theory.

Watch Video Solution

https://dl.doubtnut.com/l/_JmtSt0nXVa4W
https://dl.doubtnut.com/l/_859jvBhJeDOD
https://dl.doubtnut.com/l/_1iOlakTS3h4O


131. Write a short note on octet rule with

example.

Watch Video Solution

132. Why a large amount of energy is needed

to remove an electron from a neutral gaseous

neon atom than the energy needed to remove

an electron from gaseous sodium atom?

Watch Video Solution

https://dl.doubtnut.com/l/_3O1BHSpzaXaM
https://dl.doubtnut.com/l/_92nmK99iLXI0
https://dl.doubtnut.com/l/_TRuP5MmCQRAG


133. Is there any attraction between atoms?

Watch Video Solution

134. What happens when two atoms come

close together ?

Watch Video Solution

135. (Fill in the blanks) ...........helped us

explaining the formation of chemical bonds.

https://dl.doubtnut.com/l/_TRuP5MmCQRAG
https://dl.doubtnut.com/l/_Hj0ZJOJqkSMM
https://dl.doubtnut.com/l/_B2I9UUBGxoBA


Watch Video Solution

136. Why there is absorption of energy in

certain chemical reactions and release of

energy in other reactions?

Watch Video Solution

137. Electronic configuration of X is 2, 8, 1 and

electronic configuration of Y is 2, 8, 7. Explain

what type of bond is formed between them.

Watch Video Solution

https://dl.doubtnut.com/l/_B2I9UUBGxoBA
https://dl.doubtnut.com/l/_MNlCnzfuVbYx
https://dl.doubtnut.com/l/_d1xFS7lRG53t


138. Why do valency electrons involve in bond

formation , than electrons of inner shells ?

Watch Video Solution

139. Why ionic compounds dissolve in polar

solution and covalent compounds dissolve in

non-polar solution?

Watch Video Solution

https://dl.doubtnut.com/l/_d1xFS7lRG53t
https://dl.doubtnut.com/l/_iE3ESu32KanT
https://dl.doubtnut.com/l/_okWrv92zEgtI
https://dl.doubtnut.com/l/_wrQlZXQRnY0m


140. Represent each of the following atoms

using Lewis notation. Calcium

Watch Video Solution

141. What is hybridisation?

Watch Video Solution

142. What are the important characteristic

features of hybridisation?

https://dl.doubtnut.com/l/_wrQlZXQRnY0m
https://dl.doubtnut.com/l/_cH7EYCPmrQWP
https://dl.doubtnut.com/l/_dAbU24No5ahT


Watch Video Solution

143. Can you suggest an experiment to prove

that ionic compounds possess strong bonds

when compared to that of covalent bonds?

Explain the procedure.

Watch Video Solution

144. Explain the shape of  on the basis of

VSEPR theory.

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_dAbU24No5ahT
https://dl.doubtnut.com/l/_Bh9Px3A1Hc6Z
https://dl.doubtnut.com/l/_MhB4HPhHMl4K


145. In which of the following bond angle can

not be explained by Valence Bond Theory?

Watch Video Solution

146. If the electronic configurations of atoms A

and B are , , , , ' and , , 

 respectively, then Which atom forms

negative ion ?

Watch Video Solution

1s2 2s2 2p6 3s2 3p1 1s2 2s2

2p4

https://dl.doubtnut.com/l/_MhB4HPhHMl4K
https://dl.doubtnut.com/l/_r2ZFTepTC4Rk
https://dl.doubtnut.com/l/_PV1TP9nDWbDb


147. If the electronic configurations of atoms A

and B are , , , , ' and , , 

 respectively, then Which atom forms

negative ion ?

Watch Video Solution

1s2 2s2 2p6 3s2 3p1 1s2 2s2

2p4

148. If the electronic configurations of atoms A

and B are , , , , ' and , , 1s2 2s2 2p6 3s2 3p1 1s2 2s2

https://dl.doubtnut.com/l/_PV1TP9nDWbDb
https://dl.doubtnut.com/l/_1RzCU8ij5e3I
https://dl.doubtnut.com/l/_WOXZ5sGVfUSd


 respectively, then Which atom forms

negative ion ?

Watch Video Solution

2p4

149. If the electronic configurations of atoms A

and B are , , , , ' and , , 

 respectively, then What is the molecular

formula of the compound formed by atoms A

and B ?

Watch Video Solution

1s2 2s2 2p6 3s2 3p1 1s2 2s2

2p4

https://dl.doubtnut.com/l/_WOXZ5sGVfUSd
https://dl.doubtnut.com/l/_c3pj3ePAMPtp
https://dl.doubtnut.com/l/_MkPaMLZjvEN1


150. (i) Write the electron-dot structures for

sodium, oxygen and magnesium. 

Watch Video Solution

151. Show in the form of a picture, the

formation of  and MgO.

Watch Video Solution

Na2O

https://dl.doubtnut.com/l/_MkPaMLZjvEN1
https://dl.doubtnut.com/l/_cnxTB8QPLFyx


152. A chemical compound has the formula

. Identify the molecule. A) Without any

lone pair's.

Watch Video Solution

AB3

153. A chemical compound has the formula

. Identify the molecule. B) With one lone

pair.

Watch Video Solution

AB3

https://dl.doubtnut.com/l/_TCZrC14difHD
https://dl.doubtnut.com/l/_1lwtZSiiNb3y
https://dl.doubtnut.com/l/_EK06Igz5njje


154. A chemical compound has the formula

. Identify the molecule. C) Mention the

shape of any one of the above molecules.

Watch Video Solution

AB3

155. Electronic configuration of a molecule 'X'

is , , . It should form XF molecule. But

if forms . How can it possible ? What the

'X' may be ?

Watch Video Solution

1s2 2s2 2p1

XF3

https://dl.doubtnut.com/l/_EK06Igz5njje
https://dl.doubtnut.com/l/_pgMsnAOFE729


156. What are true about Lewis dot structures

of molecules ? 

Each bond is formed as a result of sharing of

an electron pair between the atoms. 

Each combining atom contributes one

electron to the shared pair. 

Octets of both the atoms get completed

Electron dot structures also known as Lewis

structures of molecules.

Watch Video Solution

https://dl.doubtnut.com/l/_ScJWZhQRO4IK
https://dl.doubtnut.com/l/_fgafiwUSfW2v


157. Elements X, Y have atomic numbers 9 and

12 respectively. Which one of these a) forms

negative ion ?

Watch Video Solution

158. Elements X,Y have atomic numbers 9 and

12 respectively. Which one of these forms

positive ion ?

Watch Video Solution

https://dl.doubtnut.com/l/_fgafiwUSfW2v
https://dl.doubtnut.com/l/_Odk6y2k9Pur6


159. An element with electronic arrangement

as 2, 8, 18, 1 will exhibit the following stable

oxidation states

Watch Video Solution

160. An element 'P' has electronic

configuration (2 , 8, 18, 1 ) wihtout identifying P.

b) State whether you would expect the

element P to be a metal or a non-metal.

Watch Video Solution

https://dl.doubtnut.com/l/_sCuo3AuGGrqU
https://dl.doubtnut.com/l/_QS76PGBAxXIR


161. An element 'P' has electronic configuration

(2 , 8, 18, 1 ) wihtout identifying P. c) Write the

probable formula and appearance of chloride

of P.

Watch Video Solution

162. An element 'P' has electronic configuration

(2 , 8, 18, 1 ) wihtout identifying P. d) Write the

probable formula and stability of hydroxide of

P.

https://dl.doubtnut.com/l/_QS76PGBAxXIR
https://dl.doubtnut.com/l/_aWyKHGJnlgtN
https://dl.doubtnut.com/l/_3AZQn2xhPWdw


Watch Video Solution

163. Collect the information about properties

and uses of covalent compounds and prepare

a report.

Watch Video Solution

164. What is the crystal structure of cesium

chloride ?

Watch Video Solution

https://dl.doubtnut.com/l/_3AZQn2xhPWdw
https://dl.doubtnut.com/l/_XHk2gWe4sK0N
https://dl.doubtnut.com/l/_cp3YF5a7WXl0


165. Give the electron dot formula for the

following. Magnesium chloride

Watch Video Solution

166. Give the electron dot formula for the

following. Carbon-di-oxide

Watch Video Solution

https://dl.doubtnut.com/l/_cp3YF5a7WXl0
https://dl.doubtnut.com/l/_DRYvogi6lgw6
https://dl.doubtnut.com/l/_FkZ1b7dv6SaV


167. Give the electron dot formula for the

following. Carbon tetrachloride

Watch Video Solution

168. Give the electron dot formula for the

following. Hydrogen bromide

Watch Video Solution

https://dl.doubtnut.com/l/_85S3MsrmNxyC
https://dl.doubtnut.com/l/_LktEBY4CUANq


169. Write the electronic configuration of the

following ions. A)  b)  c)  d)

e)

Watch Video Solution

Na + O2 − Cl− S − 2

Al3 +

170. What is Kernel, according to Lewis?

Watch Video Solution

https://dl.doubtnut.com/l/_YzzePiUQ1m41
https://dl.doubtnut.com/l/_vOhngM5RjZvr


171. Explain the formation of uni-positive, di-

positive and tri-positive ions with examples.

Watch Video Solution

172. Explain the formation of uni-positive, di-

positive and tri-positive ions with examples.

Watch Video Solution

173. Ionic bond is also called

https://dl.doubtnut.com/l/_Ir6BNWhUlYpP
https://dl.doubtnut.com/l/_KCXRIuQpz0B1
https://dl.doubtnut.com/l/_af6GUqcfxIj6


Watch Video Solution

174. What are the characteristic features of

inert gases?

Watch Video Solution

175. Draw the structural diagram of Ammonia

molecule as per the valence - shell electron

pair repulsion theory.

Watch Video Solution

https://dl.doubtnut.com/l/_af6GUqcfxIj6
https://dl.doubtnut.com/l/_ZMh1lduzVfS8
https://dl.doubtnut.com/l/_g0A8dZWDFitf


176. What are the failures of Bohr's model of

atom ?

Watch Video Solution

177. Is there any relation to energy and bond

formation between atoms?

Watch Video Solution

https://dl.doubtnut.com/l/_g0A8dZWDFitf
https://dl.doubtnut.com/l/_k2RTwZ7TKAlg
https://dl.doubtnut.com/l/_w0vH4mEimlGW


Exercise

178. Explain the formation of uni, di, tri

negative ions with examples.

Watch Video Solution

1. Which one of the following four elements is

more electronegative?

A. Sodium

https://dl.doubtnut.com/l/_tKTp7J3h151w
https://dl.doubtnut.com/l/_8GXJ2RB7KhmQ


B. Oxygen

C. Magnesium

D. Calcium

Answer:

Watch Video Solution

2. An element  forms an ionic compound

with another element ‘Y’. Then the charge on

the ion formed by 'X' is

11X23

https://dl.doubtnut.com/l/_8GXJ2RB7KhmQ
https://dl.doubtnut.com/l/_4foCXrlih6Jw


A. (+1

B. (+2

C. (-1

D. (-2

Answer:

Watch Video Solution

3. An element 'A' forms a chloride . The

number of electrons in the valence shell of ‘A”

is

ACl4

https://dl.doubtnut.com/l/_4foCXrlih6Jw
https://dl.doubtnut.com/l/_ou8dIlh0ZzQH


A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

4. The inert gas element which has octet

electronic configuration in its outermost orbit

is

https://dl.doubtnut.com/l/_ou8dIlh0ZzQH
https://dl.doubtnut.com/l/_UFNo8nQa67BZ


A. Helium

B. Argon

C. Krepton

D. Radon

Answer:

Watch Video Solution

5. Number of covalent bonds in ethane

molecule

https://dl.doubtnut.com/l/_UFNo8nQa67BZ
https://dl.doubtnut.com/l/_UUbpmo6vWhoN


A. 7

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

6. The concept ‘hybridisation of orbitals of an

atom’ was introduced by

https://dl.doubtnut.com/l/_UUbpmo6vWhoN
https://dl.doubtnut.com/l/_OWf5HZQTG6xt


A. Lives Pouling

B. Mosley

C. Lewis

D. Kossel

Answer:

Watch Video Solution

7. The value of bond angle in beryllium

chloride molecule is

https://dl.doubtnut.com/l/_OWf5HZQTG6xt
https://dl.doubtnut.com/l/_5MJRqX2Aea2A


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

180∘

120∘

110∘

104.31∘

8. Which are showed in Lewis dot structure ?

Either all electrons or valence electrons ?

https://dl.doubtnut.com/l/_5MJRqX2Aea2A
https://dl.doubtnut.com/l/_0k0sENBOXMNb


Watch Video Solution

9. When is ionic bond formed between atoms?

Watch Video Solution

10. What is the bond of B-F bond in .

Watch Video Solution

BF3

11. Gain of electron or electrons is termed

https://dl.doubtnut.com/l/_0k0sENBOXMNb
https://dl.doubtnut.com/l/_pwn8VrkiGiUB
https://dl.doubtnut.com/l/_lfTIdaxrMlMG
https://dl.doubtnut.com/l/_TaU0dkpGLa3j


A. Electropositivity

B. Electronegativity

C. Both

D. None

Answer:

Watch Video Solution

12. Electrons are .......charged sub-atomic

particles present in the atom.

https://dl.doubtnut.com/l/_TaU0dkpGLa3j
https://dl.doubtnut.com/l/_jxxyaxVjOFgV


A. Electrons

B. Protons

C. Neutrons

D. None

Answer:

Watch Video Solution

13. Whcin bond is most polar?

A. NaCl

https://dl.doubtnut.com/l/_jxxyaxVjOFgV
https://dl.doubtnut.com/l/_6sUxmCKJ0dMW


B. 

C. 

D. 

Answer:

Watch Video Solution

NH3

H2O

CH4

14. The highly stable pair of ions are

A. Cations

B. Anions

https://dl.doubtnut.com/l/_6sUxmCKJ0dMW
https://dl.doubtnut.com/l/_tlSLqv2kCdu6


C. A and B

D. None

Answer:

Watch Video Solution

15. What is the maximum covalency of oxygen

? Give examples.

A. 1

B. 2

https://dl.doubtnut.com/l/_tlSLqv2kCdu6
https://dl.doubtnut.com/l/_SszBfGdlNMsN


C. 3

D. 4

Answer:

Watch Video Solution

16. Explain the shape and the bond angle in

in terms of VBT

A. Tetrahedral

B. Trigonal by pyramid

BeCl2

https://dl.doubtnut.com/l/_SszBfGdlNMsN
https://dl.doubtnut.com/l/_v2FkxqGmNHLn


C. Liner

D. None

Answer:

Watch Video Solution

17. Why ionic compounds dissolve in polar

solution and covalent compounds dissolve in

non-polar solution?

A. polar

https://dl.doubtnut.com/l/_v2FkxqGmNHLn
https://dl.doubtnut.com/l/_oal7lhK8gnbo


B. non-polar

C. both

D. none

Answer:

Watch Video Solution

18. Which of the following are polar protic

solvents

A. Cl4

https://dl.doubtnut.com/l/_oal7lhK8gnbo
https://dl.doubtnut.com/l/_N0lIVcC2SnP0


B. 

C. 

D. 

Answer:

Watch Video Solution

C6H6

CS2

H2O

19. The bond in  is……..

A. Covalent

B. Ionic

H2O

https://dl.doubtnut.com/l/_N0lIVcC2SnP0
https://dl.doubtnut.com/l/_u9tcD1PJcbhT


C. Coordinate covalent

D. Polar

Answer:

Watch Video Solution

20. Which of the following is ionic

A. NaCl

B. 

C. 

MgCl2

AlCl3

https://dl.doubtnut.com/l/_u9tcD1PJcbhT
https://dl.doubtnut.com/l/_8ta8zv4PkFNl


D. All

Answer:

Watch Video Solution

21. Oxygen has __ lone pairs of electrons in

water molecule.

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_8ta8zv4PkFNl
https://dl.doubtnut.com/l/_XGGnxiETZvA2


D. 4

Answer:

Watch Video Solution

22. 1 nanometre =

A.  metre

B.  metre

C.  metre

D.  metre

10_ 7

10− 8

10− 9

10− 10

https://dl.doubtnut.com/l/_XGGnxiETZvA2
https://dl.doubtnut.com/l/_gtqUfKNPJQmt


Answer:

Watch Video Solution

23. Which of the following is the bond angle of

Methane  ?

A. 

B. 

C. '

D. '

(CH4)

104∘ 31'

120∘

107∘ 48

109∘ 28

https://dl.doubtnut.com/l/_gtqUfKNPJQmt
https://dl.doubtnut.com/l/_o4p4FXZ7Cfyq


Answer:

Watch Video Solution

24. Which of the following element has less

electronegativity

A. Fluorine

B. Cesium

C. Chlorine

D. Bromine

https://dl.doubtnut.com/l/_o4p4FXZ7Cfyq
https://dl.doubtnut.com/l/_R0R3CVJos3GA


Answer:

Watch Video Solution

25. Which of the following has the minimum

bond length?

A. 1.27

B. 1.28

C. 1.29

D. 1.3

https://dl.doubtnut.com/l/_R0R3CVJos3GA
https://dl.doubtnut.com/l/_pFXHoUfdPdbI


Answer:

Watch Video Solution

26. Which of the following is the bond angle of

Beryllium chloride 

A. 

B. 

C. 

D. 

(Becl2)

120∘

180∘

109∘ 28'

107∘ 48'

https://dl.doubtnut.com/l/_pFXHoUfdPdbI
https://dl.doubtnut.com/l/_pjxsynE7Eq99


Answer:

Watch Video Solution

27. Which hybridisation is found in  and 

 ?

A. sp

B. 

C. 

D. 

NH3

H2O

sp2

sp3

sp2 − sp2

https://dl.doubtnut.com/l/_pjxsynE7Eq99
https://dl.doubtnut.com/l/_yKnRnDZRIAjV


Answer:

Watch Video Solution

28. How many valence electrons are there in Cl

- anion ?

A. 2

B. 8

C. 7

D. 17

https://dl.doubtnut.com/l/_yKnRnDZRIAjV
https://dl.doubtnut.com/l/_8cuNxJeGrdN1


Answer:

Watch Video Solution

29. In ammonia  molecule, there are

how many lone pair electrons ?

A. 1

B. 2

C. 3

D. 4

(NH3)

https://dl.doubtnut.com/l/_8cuNxJeGrdN1
https://dl.doubtnut.com/l/_qOpZVGJ6GCUj


Answer:

Watch Video Solution

30. Which of the following is the shape of

methane molecule ?

A. Trigonal - Planar

B. Tetrahedral

C. Trigonal - Pyramidal

D. V'-shape

https://dl.doubtnut.com/l/_qOpZVGJ6GCUj
https://dl.doubtnut.com/l/_d7npoNR5pBX4


Answer:

Watch Video Solution

31. Which of the following hybridisation is

there in beryllium chloride  molecule

?

A. 

B. 

C. sp

D. None of these

(BeCl2)

sp3

sp2

https://dl.doubtnut.com/l/_d7npoNR5pBX4
https://dl.doubtnut.com/l/_qGNPcDm04M0K


Answer:

Watch Video Solution

32. Which of the following are true according

to Lewis dot structure ?

A. NaCl

B. 

C. 

D. All

MgCl2

AlCl3

https://dl.doubtnut.com/l/_qGNPcDm04M0K
https://dl.doubtnut.com/l/_dPTldFUj2gHO


Answer:

Watch Video Solution

33. Which of the following is the shape of

 molecule ?

A. Trigonal planar

B. Trigonal pyramid

C. Tetrahedron

D. V' - shape

(BeCl2)

https://dl.doubtnut.com/l/_dPTldFUj2gHO
https://dl.doubtnut.com/l/_Tk4BqLw3k88P


Answer:

Watch Video Solution

34. Which of the following is the bond angle of

 molecule ?

A. '

B. '

C. '

D. 

H2O

104∘ 27

107∘ 48

109∘ 28

120∘

https://dl.doubtnut.com/l/_Tk4BqLw3k88P
https://dl.doubtnut.com/l/_6rkGFyszv9ue


Answer:

Watch Video Solution

35. Which of the following is the shape of

water  molecule ?

A. Trigonal planar

B. Trigonal pyramidal

C. Tetrahedron

D. V' - shape

(H2O)

https://dl.doubtnut.com/l/_6rkGFyszv9ue
https://dl.doubtnut.com/l/_WojuHfWPn6mj


Answer:

Watch Video Solution

36. How many sigma bonds and  bonds are

there in the formation of  molecule ?

A. One sigma, one pi bond

B. Two sigma , one pi bond

C. One sigma, two pi bonds

D. Two sigma two pi bonds

π

N2

https://dl.doubtnut.com/l/_WojuHfWPn6mj
https://dl.doubtnut.com/l/_ej2lC0mSDORA


Answer:

Watch Video Solution

37. Which of the following is hybridisation of

water  molecule ?

A. 

B. 

C. 

D. 

(H2O)

σsp3

sp2

σsp3 − s

σsp3 − p

https://dl.doubtnut.com/l/_ej2lC0mSDORA
https://dl.doubtnut.com/l/_F9T9FZjmVQ4c


Answer:

Watch Video Solution

38. The scientist who proposed the ionic bond

is

A. Kossel

B. G.N. Lewis

C. Sidgwick

D. Powell

https://dl.doubtnut.com/l/_F9T9FZjmVQ4c
https://dl.doubtnut.com/l/_wrWKRxmshajx


Answer:

Watch Video Solution

39. Valency of nitrogen is………

A. 1

B. 2

C. 3

D. 4

Answer:

https://dl.doubtnut.com/l/_wrWKRxmshajx
https://dl.doubtnut.com/l/_cTtaFZ67KAaW


Watch Video Solution

40. Which of the following is a polar

compound ?

A. 

B. 

C. 

D. HCl

Answer:

CH4

NH3

H2O

https://dl.doubtnut.com/l/_cTtaFZ67KAaW
https://dl.doubtnut.com/l/_OCXRevj4zJXJ


Watch Video Solution

41. These elements exist as atoms but not

molecules…….

A. halogens

B. metals

C. Inert gases

D. alkaline-earth metals

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OCXRevj4zJXJ
https://dl.doubtnut.com/l/_BKuBlzSn0oJo


42. Chemical formula of common salt is _

A. 

B. NaCl

C. 

D. 

Answer:

Watch Video Solution

Na2Cl

NaCl2

Na2Cl2

https://dl.doubtnut.com/l/_BKuBlzSn0oJo
https://dl.doubtnut.com/l/_kzhnU7VzrRjy
https://dl.doubtnut.com/l/_nW9xRsb7QNo8


43. Electrons are negatively charged and they

………each other.

A. attract

B. repel

C. neither attract nor repel

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nW9xRsb7QNo8


44. Sir, Humphry Davy is appreciable, because,

he was extremely successful in

A. valence shell

B. neutralisation

C. electrolysis

D. condensation

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ffdEKJo2nTDP
https://dl.doubtnut.com/l/_wdHPHkhJ7h9d


45. These are responsible for the formation of

bonds between atoms.

A. lone electrons

B. all electrons

C. valence electrons

D. no electrons

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wdHPHkhJ7h9d


46. Noble gases belong to the following group

A. VIA

B. V

C. VIIA

D. VIIIA

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zKdA17fIyWZT


47. Except this all the noble gases have eight

electrons in their outermost shell.

A. Neon

B. Helium

C. Argon

D. Radon

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RUsgqcWJ5MEq
https://dl.doubtnut.com/l/_hZkxoOvzRYJv


48. Electron net charge in the V group

element.

A. -4

B. -3

C. -2

D. -1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hZkxoOvzRYJv


49. These ions lose electrons to form stable

positive ions.

A. aniona

B. cations

C. both A & B

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pdNdvZf67jkJ
https://dl.doubtnut.com/l/_fsh21NPVm0nE


50. The valency of chlorine is……….

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_fsh21NPVm0nE


51. Magnesium loses this number of electrons

to obtain neon configuration.

A. 0

B. 1

C. 2

D. 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OoUAKXc8hvmx
https://dl.doubtnut.com/l/_gL6pr2gxSXD4


52. Nitrogen forms a ………..covalent bond.

A. single

B. double

C. triple

D. none

Answer:

Watch Video Solution

53. Molecular formula of methane is

https://dl.doubtnut.com/l/_gL6pr2gxSXD4
https://dl.doubtnut.com/l/_ElDpSwgDJW30


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H2

CH4

C4H4

C2H6

54. 1 nanometre =

A. 10− 7metre

https://dl.doubtnut.com/l/_ElDpSwgDJW30
https://dl.doubtnut.com/l/_P36dWcX6DR4a


B. 

C. 

D. 

Answer:

Watch Video Solution

10− 8metre

10− 9metre

10− 10metre

55. The bond angle between H - O - H atoms.

A. 

B. '

120∘

109∘ 28

https://dl.doubtnut.com/l/_P36dWcX6DR4a
https://dl.doubtnut.com/l/_OZRkUhwQOjhg


C. 

D. '

Answer:

Watch Video Solution

107∘ 18'

104∘ 31

56. Arrange the following in a systematic order

formation of Anion 

Electrostatic Force of attraction

Formation of ionicbond

Formation of cation

https://dl.doubtnut.com/l/_OZRkUhwQOjhg
https://dl.doubtnut.com/l/_u0pkLkzfwDCM


A. I,ii,iii,iv

B. I,iv,iii,ii

C. iv,ii,I,iii

D. iv,I,ii,iii

Answer:

Watch Video Solution

57. Valency of an element indicates

A. combining power of hydrogen

https://dl.doubtnut.com/l/_u0pkLkzfwDCM
https://dl.doubtnut.com/l/_jVsMplifeGak


B. acidity

C. electrons in the outermost orbit

D. combining power of that element

Answer:

Watch Video Solution

58. _____ bond is present between the two

oxygen atoms in oxygen molecule.

A. Single

https://dl.doubtnut.com/l/_jVsMplifeGak
https://dl.doubtnut.com/l/_ofrCQuW1FgBL


B. Double

C. Triple

D. Hydrogen

Answer:

Watch Video Solution

59. The general valence shell configuration of

inert gas is………..

A. ns2np4

https://dl.doubtnut.com/l/_ofrCQuW1FgBL
https://dl.doubtnut.com/l/_U6ySPbNYk4dT


B. 

C. 

D. 

Answer:

Watch Video Solution

ns2np5

ns2np6

ns2np3

60. The bond angle in water molecule is

A. 

B. 

180∘

120∘

https://dl.doubtnut.com/l/_U6ySPbNYk4dT
https://dl.doubtnut.com/l/_8aMq7NNSiOj9


C. '

D. '

Answer:

Watch Video Solution

109∘ 28

104∘ 28

61. Bonds in  molecule are………..

A. 

B. 

C. 

N2

2σ

1σ, π

2σ, 1π

https://dl.doubtnut.com/l/_8aMq7NNSiOj9
https://dl.doubtnut.com/l/_icmQZ2UQ0Uei


D. 

Answer:

Watch Video Solution

1σ, 2π

62. In the formation of  number of

electrons transferred from Mg to Cl is

A. 1

B. 2

C. 3

MgCl2

https://dl.doubtnut.com/l/_icmQZ2UQ0Uei
https://dl.doubtnut.com/l/_uDZbS6juEJ96


D. 4

Answer:

Watch Video Solution

63. The atomic number of an element 'A' is 14.

Which of the following information about the

formula of its chloride and the nature of the

bonds in it is correct ?

A. Acl4 − lonic

https://dl.doubtnut.com/l/_uDZbS6juEJ96
https://dl.doubtnut.com/l/_NKqbUCYfQ0a7


B. `Acl4-Covalent

C. `Acl4-Covalent

D. 

Answer:

Watch Video Solution

Acl2 − lonic

64. Which of the following molecules/ ions

doesn't follow the octet rule ?

A. NH + _ 4

https://dl.doubtnut.com/l/_NKqbUCYfQ0a7
https://dl.doubtnut.com/l/_A5EP0i5d0FMk


B. 

C. 

D. 

Answer:

Watch Video Solution

PCl3

C2H2

BCl3

65. The atomic number of covalent element X

is 12 the formula of its chloride is……

A. XCl

https://dl.doubtnut.com/l/_A5EP0i5d0FMk
https://dl.doubtnut.com/l/_84veSIJF8F1P


B. 

C. 

D. 

Answer:

Watch Video Solution

XCl2

XCl3

X2Cl

66. The atomic number of an element 'Y' is 19,

the formula of its oxide is……….

A. YO

https://dl.doubtnut.com/l/_84veSIJF8F1P
https://dl.doubtnut.com/l/_Ktt5JtDP70eo


B. 

C. 

D. 

Answer:

Watch Video Solution

Y O2

Y2O

Y2O3

67. The shape of the ammonia molecule is………

A. linear

B. trigonal planar

https://dl.doubtnut.com/l/_Ktt5JtDP70eo
https://dl.doubtnut.com/l/_M1j7LGQjvO35


C. phyramidal

D. tetra hydal

Answer:

Watch Video Solution

68. The bond angle is  among……….hybrid

orbitals.

A. sp

B. 

120∘

sp2

https://dl.doubtnut.com/l/_M1j7LGQjvO35
https://dl.doubtnut.com/l/_bisjlr4sE4lx


C. 

D. All the above

Answer:

Watch Video Solution

sp3

69. What is the crystal structure of NaCl ?

A. FCC

B. BCC

C. NCC

https://dl.doubtnut.com/l/_bisjlr4sE4lx
https://dl.doubtnut.com/l/_VYgsjeXwnkdr


D. BC

Answer:

Watch Video Solution

70. Ionic bond is formed between atoms of

elements with electronegativity

differences…………

A. gt 1.7

B. lt 1.7

https://dl.doubtnut.com/l/_VYgsjeXwnkdr
https://dl.doubtnut.com/l/_LtHRrtPeXkrk


C. gt 1.9

D. lt 1.9

Answer:

Watch Video Solution

71. The atomic number of an elemtn Z is 9.

Which of the following statements about the

molecule of Z is correct ?

A. It is a noble gas which is mono-atomic

https://dl.doubtnut.com/l/_LtHRrtPeXkrk
https://dl.doubtnut.com/l/_7F3hRKbfuiKB


B. It is a monoatomic metal

C. It is diatomic covalent molecule

D. It is diatomic ionic molecule

Answer:

Watch Video Solution

72. The electronic configuration of Selinium is

2, 8 , 18, 6. Which of us following statements

about Selinium is wrong ?

https://dl.doubtnut.com/l/_7F3hRKbfuiKB
https://dl.doubtnut.com/l/_NrYPOpB5Pnll


A. Its hybride formula is 

B. It is a metalloid

C. It forms an acidic oxide

D. Its hybride is ionic

Answer:

Watch Video Solution

H2Se

73. Which of the following statements about

the element X whose atomic number is 14 is

wrong ?

https://dl.doubtnut.com/l/_NrYPOpB5Pnll
https://dl.doubtnut.com/l/_Eegg7zhGDSxw


A. The electronic configuration of X is 2,8,7

B. It is an electronegative element

C. It forms an ionic chloride

D. It is a semi metal

Answer:

Watch Video Solution

74. Which of the following statements about

an element A whose atomic number is 17 is

correct ?

https://dl.doubtnut.com/l/_Eegg7zhGDSxw
https://dl.doubtnut.com/l/_2K8VEUAoZ09e


A. The anion it forms is 

B. It is an electropositive element

C. The electronic configuration of A is 2,8,2

D. All the above

Answer:

Watch Video Solution

A −

75. Which of the following statements about

an element whose atomic number is 16 is

wrong ?

https://dl.doubtnut.com/l/_2K8VEUAoZ09e
https://dl.doubtnut.com/l/_ZB7udHUw3MPG


A. It is a non-metal with a valency of 2

B. It forms a hydride of formula 

C. It forms covalent compound when reacts

with sodium

D. It is a non-metal

Answer:

Watch Video Solution

H2X

https://dl.doubtnut.com/l/_ZB7udHUw3MPG


76. Which of the following statements is corect

about the element which comes below

potassium in the periodic table ?

A. It is highly electropositive

B. It will have one e in its outer shell

C. It forms an ionic chloride of formula MX

D. All the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Fg0sSHUrmwbf


77. Valency expresses… 

total electrons in valence shell of an atom. 

atomicity of an element .

oxidation number of an element.

combinig capacity of an element.

A. a,b

B. a,b,c

C. a,d

D. a,b,c,d

Answer:

https://dl.doubtnut.com/l/_LeQNFchiAYzy


Watch Video Solution

78. Which of the following compounds are

covalent ? A)  b) Cao c)  d)

A. a,b

B. c,d

C. a,d

D. a,c,d

Answer:

H2 CHCl3 BI3

https://dl.doubtnut.com/l/_LeQNFchiAYzy
https://dl.doubtnut.com/l/_8vcUsGV06NsS


Watch Video Solution

79. Factors effecting the formation of the ionic

bond

A. Atomic size

B. lonization energy

C. Electron affinity

D. All the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8vcUsGV06NsS
https://dl.doubtnut.com/l/_OR6GsEkomR5h


80. Which of the following elements ar

electropositive ?a) Sodium b) Potassium c)

Lithium d) Chlorine

A. a,d

B. b,c

C. a,b,c

D. d

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OR6GsEkomR5h
https://dl.doubtnut.com/l/_Quw77u9uDNcF


81. The following are some statements about

the characteristics of covalent compounds i)

The combination of a metal and non-metal

must give a covalent compound. ii) All covalent

substances are bad conductors of electricity.

iii) All covalent substances are gases at room

temperature. The correct combination is

A. a,b,c

B. b,c,d

C. a,b,d

https://dl.doubtnut.com/l/_Quw77u9uDNcF
https://dl.doubtnut.com/l/_balE6c9aDwJq


D. a,b,c,d

Answer:

Watch Video Solution

82. What are true about Lewis dot structures

of molecules ? 

Each bond is formed as a result of sharing of

an electron pair between the atoms. 

Each combining atom contributes one

electron to the shared pair. 

https://dl.doubtnut.com/l/_balE6c9aDwJq
https://dl.doubtnut.com/l/_68uUfIKud9Dz


Octets of both the atoms get completed

Electron dot structures also known as Lewis

structures of molecules.

A. c

B. b,c,d

C. a,b,c

D. a,b,c,d

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_68uUfIKud9Dz
https://dl.doubtnut.com/l/_nfMluJG7xEWT


83. Sodium atoms and sodium ions

A. are chemically the same

B. have the same number of protons

C. have on identical number of electrons

D. from covalent bonds

Answer:

Watch Video Solution

84. When sodium reacts with chlorine.

https://dl.doubtnut.com/l/_nfMluJG7xEWT
https://dl.doubtnut.com/l/_CEOpfsBctmBF


A. each sodium atom gains one electron

B. each chlorine atom loses one electron

C. a covalent bond is formed

D. the compound formed is a solid

Answer:

Watch Video Solution

85. Metal atoms tend to form ___

A. negative ions

https://dl.doubtnut.com/l/_CEOpfsBctmBF
https://dl.doubtnut.com/l/_V0AKZu4p8C1w


B. positive ions

C. covalent bond

D. metallic bonds

Answer:

Watch Video Solution

86. If the element can lose an electron readily,

they are said to be

A. electronegative

https://dl.doubtnut.com/l/_V0AKZu4p8C1w
https://dl.doubtnut.com/l/_NOWkwG1I5eFS


B. electropositive

C. Radio action

D. None of these

Answer:

Watch Video Solution

87. Which of the following is the most reactive

?

A. F

https://dl.doubtnut.com/l/_NOWkwG1I5eFS
https://dl.doubtnut.com/l/_FCZ6ukFlZIDw


B. CI

C. Br

D. I

Answer:

Watch Video Solution

88. An element reacts with oxygen to give a

compound with a high melting point. This

compound is also soluble in water. The

element is likely to be

https://dl.doubtnut.com/l/_FCZ6ukFlZIDw
https://dl.doubtnut.com/l/_WNMf3RXr5JrQ


A. Calcium

B. Sulphur

C. Silicon

D. Arsenic

Answer:

Watch Video Solution

89. How do valence electrons are showed in

the lewis structure ?

https://dl.doubtnut.com/l/_WNMf3RXr5JrQ
https://dl.doubtnut.com/l/_wVwi6LSuesGv


Watch Video Solution

90. The elements with three or less than three

electrons in the outer shell are considered as

Watch Video Solution

91. How do you write the lewis dot structure

for an inert gas ?

Watch Video Solution

https://dl.doubtnut.com/l/_wVwi6LSuesGv
https://dl.doubtnut.com/l/_OvgU6xSitFo1
https://dl.doubtnut.com/l/_iD39xMI4A5LI


92. Between which type of atoms ionic bond

will form ?

Watch Video Solution

93. Why do we consider KCl as an ionic solid ?

Watch Video Solution

94. Which type of forces keeps the cations and

anions together ?

https://dl.doubtnut.com/l/_rjJYmMM0rkXz
https://dl.doubtnut.com/l/_kTJbEwoRwvlb
https://dl.doubtnut.com/l/_7Q3KP4ci2gmL


Watch Video Solution

95. Whether compound formed due to ionic

bond is negative or positive ?

Watch Video Solution

96. Write the names of any two compounds

which have ionic bond.

Watch Video Solution

https://dl.doubtnut.com/l/_7Q3KP4ci2gmL
https://dl.doubtnut.com/l/_UicjmqpzpSL1
https://dl.doubtnut.com/l/_rx2aEuJpAygc
https://dl.doubtnut.com/l/_YOhpBgirUaBJ


97. As Boran has one unpaired electron, what

is the result of it ?

Watch Video Solution

98. What is the hybridisation of B and N in

borazole?

Watch Video Solution

https://dl.doubtnut.com/l/_YOhpBgirUaBJ
https://dl.doubtnut.com/l/_076Kzf0R1CAe


99. What are the bond angles in  and H.S

? Why they differ in their bond angles even

through the central atoms exhibit same

hybridisations.

Watch Video Solution

H2O

100. How many fluorine atoms overlap their

orbitals with hybridised boran orbitals ?

Watch Video Solution

https://dl.doubtnut.com/l/_uleFblJ14nx8
https://dl.doubtnut.com/l/_1XNUZiqJt6qJ
https://dl.doubtnut.com/l/_IvQiEFml1vjB


101. Which type of orbitals that fluorine has ?

Either s or p orbital ?

Watch Video Solution

102. Which elements try to lose three

electrons from their atoms ? Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_IvQiEFml1vjB
https://dl.doubtnut.com/l/_fo5YpUb9We9b


103. Write the lewis dot structures of carbon

and magnesium ?

Watch Video Solution

104. The shape of a molecule is linear. What

would be the bond angle in it ? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_pPhoSsKx8XQe
https://dl.doubtnut.com/l/_DUlOj9HpKZ42


105. There is a triple bond between two atoms.

Which molecule they belongs to ? Which type

of bonds ther are ?

Watch Video Solution

106. Which of the following forces are the

strongest ?

A. Dipole - dipole forces

B. Ion - dipole forces

https://dl.doubtnut.com/l/_h924H5B9GDqq
https://dl.doubtnut.com/l/_87ltYelvxNnL


C. H - bond forces

D. Ion - ion forces

Answer:

Watch Video Solution

107. The chemical formula of zinc phosphate is

A. 

B. `Zn_3PO_4

C. `Zn(PO_4)_3

Zn3(PO4)3

https://dl.doubtnut.com/l/_87ltYelvxNnL
https://dl.doubtnut.com/l/_0ED3GyELrGAP


D. 

Answer:

Watch Video Solution

Zn2(PO4)3

108. A pi bond is formed by _____ overlap of

orbitals.

A. axial

B. lateral

C. without overlapping

https://dl.doubtnut.com/l/_0ED3GyELrGAP
https://dl.doubtnut.com/l/_DmEuvmGccNrX


D. can't form

Answer:

Watch Video Solution

109. The charge on a cation 'M' is +2 and anion

'A' is -3. The compound formed has the formula

A. 

B. 

C. 

MA2

M3A2

M2A3

https://dl.doubtnut.com/l/_DmEuvmGccNrX
https://dl.doubtnut.com/l/_QsX7IKsDTxUb


D. 

Answer:

Watch Video Solution

M2A

110. Among ,

the covalent bond character follows the order

A. LiCl gt  gt gt CCl_4`

B. LiCl lt  lt gt CCl_4`

C. LiCl gt  gt gt BCl_3`

Licl, BeCl2, BCl3, and CCl4

BeCl2 BCl3

BeCl2 BCl3

BeCl2 Cl4

https://dl.doubtnut.com/l/_QsX7IKsDTxUb
https://dl.doubtnut.com/l/_gMWhSReUz470


D. LiCl lt  lt gt CCl_4`

Answer:

Watch Video Solution

BeCl2 BCl3

111. The order of the over lapping of atomic or-

bitals is…….

A. s -s gt p - p gt s - p

B. p - p gt s - p gt s - s

C. s - s gt s - p gt p - p

https://dl.doubtnut.com/l/_gMWhSReUz470
https://dl.doubtnut.com/l/_zWaNdWr2hWcp


D. s - p gt s - s gt p - p

Answer:

Watch Video Solution

112. Which of the following is correct order of

repulsive interactions ?

A. L.P - L.P gt L.P - B.P gt B.P - B.P

B. L.P - B.P gt L.P - L.P gt B.P - B.P

C. B.P - B.P gt L.P - B.P gt L.P - L.P

https://dl.doubtnut.com/l/_zWaNdWr2hWcp
https://dl.doubtnut.com/l/_x1TcA6e6Rqlz


D. Any of three depending upon the type of

molecule

Answer:

Watch Video Solution

113. Which has the lowest bond angle ?

A. 

B. 

C. 

NH3

BeF3

H3O +

https://dl.doubtnut.com/l/_x1TcA6e6Rqlz
https://dl.doubtnut.com/l/_wF9teu3TDqPW


D. 

Answer:

Watch Video Solution

CH4

114. Ionic bond is absent in………

A. NaCl

B. 

C. MgO

D. 

AlCl3

H2O

https://dl.doubtnut.com/l/_wF9teu3TDqPW
https://dl.doubtnut.com/l/_4M9gBtKxdQoq


Answer:

Watch Video Solution

115. The bond angles in : , , 

A. ,109^@28 104^@31`

B. 120^@ 104^@31`

C. ', , 

D. , , 

Answer:

BeCl2 BF3 H2O

180∘ ,

180∘ , ,

109∘ 28 120∘ 180∘

104∘ 31 109∘ 2 120∘

https://dl.doubtnut.com/l/_4M9gBtKxdQoq
https://dl.doubtnut.com/l/_CH1BwjQmuF8i


Watch Video Solution

116. Ionic bond is formed between IA group

and VII A group, because

A. IA group anion & VII A group from cation

B. IA group cation & VII A group form anion

C. IA group cation & VII A group form

cation

D. IA group anion & VII A group form anion

https://dl.doubtnut.com/l/_CH1BwjQmuF8i
https://dl.doubtnut.com/l/_WhezIvWTptS2


Answer:

Watch Video Solution

117. The electronic configuration of metal 'M' is

  and non- metal X is  

. The formula of ionic compound

formed between these two elements is

A. MX

B. 

C. 

1s22s22p63s2 3p6 4s1 1s2

2s22p63s23p5

M2X

MX2

https://dl.doubtnut.com/l/_WhezIvWTptS2
https://dl.doubtnut.com/l/_7TXMLGWuh6mM


D. 

Answer:

Watch Video Solution

M3X2

118. The electronic configuration of four

elements L, P, Q and R are given below. 

L- 


P- 


Q-  


R- . 


1s22s22p4

1s22s22p63s1

122s22p63s23p5

1s22s22p63s2

https://dl.doubtnut.com/l/_7TXMLGWuh6mM
https://dl.doubtnut.com/l/_uSlDDPLORxVR


Which of the following are correct compounds

formed by these elements?

A. 

B. LP, RL, PQ, RQ

C.  RL, PQ, 

D. LP, ,  RQ

Answer:

Watch Video Solution

L2, P , RL, PQ, R2Q

P2L, RQ2

R2L P2Q,

https://dl.doubtnut.com/l/_uSlDDPLORxVR


119. Number of electrons given by an atom of

element in the formation of covalent bond is

equal to:

A. number of valence electrons

B. total number of electrons

C. electrons required to get octet

configuration

D. equal to number of atoms in a molecule

Answer:

W h Vid S l i

https://dl.doubtnut.com/l/_VGYj3OainvbX


Watch Video Solution

120. The order of repulsion of different types

of electron pairs in valence shell of central

atom in a molecule is………

A. L.P - L.P > L.P - B.P > B.P - B.P

B. B.P - B.P > L.P - B.P > L.P - L.P

C. L.P - L.P > B.P - B.P > L.P. - B.P

D. B.P - B.P. > L.P - L.P > B.P. - L.P

Answer:

https://dl.doubtnut.com/l/_VGYj3OainvbX
https://dl.doubtnut.com/l/_nW2X6DGhsXvb


Watch Video Solution

121. What is the valence of IIIA group elements

? How can you say ?

Watch Video Solution

122. How do IIIA group elements form cations ?

Watch Video Solution

https://dl.doubtnut.com/l/_nW2X6DGhsXvb
https://dl.doubtnut.com/l/_gycNOz9QFSJ9
https://dl.doubtnut.com/l/_PET9xO8PGGjn


123. Which type of elements form aniona ?

Give an example.

Watch Video Solution

124. In excited state, how many bonds do

boran form with fluorine ?

Watch Video Solution

https://dl.doubtnut.com/l/_SySUmWhOrzeA
https://dl.doubtnut.com/l/_tCUv6EM5p2YA

